log (L*/L* relative lightnessL*/L* ,
CIELAB & TUBJND normalized to the
background lightnessL* ,

log
CIELAB & TUBJND

(L*/L* relative lightnessL*/L*
normalized to the

background lightnessL* ,

2 2.
L ruganp=d In [ 1+ b-(Y/Yy)] d=25,6 b=6,141 [2a] L*ruganp=d In [ 1+ b (Y/Y,)] d=25,6 b=6,141 [2a]
L* ceLas =116(Y/Y,)-16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
regularity index: g*s=99, g%=99, [ISO 15775
1 ————— 14intended output: —————
application . application
range equally spaced 9 steps in CIELAB range
for contrast Cy=25:1
odr rcieras =L L0 1,75 - ceLAR 175
Lucieas =49 Yug8f 7100 | black L* u,clELAB = 1,00 ___ | ____._black
0:43
o Yp=3,61 Y518 Yy, =90 i Y\=3,6 Yy, =90
0 50 100 150Y 100 150Y
T e
log (L*/L* relative lightnessL*/L* log (L*/L* relative lightnessL*/L*

CIELAB &u TUBJND normalized to the

CIELAB & TUBJIND

normalized to the

2 background lightnessL* , 2 background lightnessL* ,
L*ruganp=d In [ 1+ b (Y/Y,)] d=25,6 b=6,141 [2a] L* rugonp=d In [ 1+ b (V/Y,)] d=25,6 b=6,141 [2a]
L* cieLag =116(Y/Y,)-16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
regularity index: g*s=30, g%=23, [ISO 15775 regularity index: g*5=88, g%=74, [ISO 15775

14non linearized real output: 14linearized real output:
nonequally spaced 9 steps equally spaced 9 steps in CIELAB
for contrast Cy=2:1 after contrast transfer Cy=25:1 to 2:1

od-rcieLas T MiZ10 R e o7 DEEekS
L* y,cieLag =49, Y7348 5 1,00 black black

l 0143
o Y\=3.61 Y718 Yy, =90 . Yp=361 Y18 Yy, =90
0 50 100 150Y 0 50 100 150Y
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